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Int. LL.B Examination 2015-2016

(First Semester)

QUANTITATIVE TECHNIQUES
Time : 3 Hours] [Maximum Marks : 60
Note :— (i) Attempt all sections.

(ii) Section A carries 8 marks, section B
carries 12 marks and section ¢ carries 40
marks.

SECTION-A

1. Attempt all parts of the following : gx1=8

7 11
(a) Find the ratio between — and —

8 2
(b) Find out the simple interest on Rs. 1,000 for 5
years at the rate of 4% per annum.

(¢c) Find the mode of the numbers 4, 10, 7, 15, 7, 3,

5,3,7 :
[P.T.O.
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Agein years No. of members
30 65
40 130
50 154
60 140
70 v 51
(¢) Calculate the coefficient of correlation from
the following data :
X | 2 3 4 5
y 6 8 11 8 12
(d) Solve the following system of linear equations :
Xt+ty+z=3
X+2y+3z=4
X+4y+9z=6
by using mairix method.
SECTION-C

Attempt all questions. Attempt any two parts from

each questions :

5x8=4(

(a) A garment dealer allows his customers 10%
discount on a marked price of the goods and still

[P.T.O.



9 - Th-9¢

4! 9¢-0¢

81 0e-¥C

43 yT-81

¢T 81-Tl

I Z1-9
9 9-0
A>uanbaag ady

: eJep SUIMO[0J OY) WO pow oY) puty  (Q)

weipsy (11)
weay (D)
couged () ‘b

 Jyueoied ajer

| o) 9q [[14 JeYA winuue 1od Jusoiod ofel 311 03
1enbo st s1834 30 JoquInu oYy pue [edroutid ay) Jo
'91/1 St AoUow JO WINS B WO 1$3133Ul ordumis ayy, (0)

*A[TeaA JTey paje[nofed

SI 1§9103Ul 9y} JI sredk 7 10) wnuue 1ad
%01 12 0008 "S¥ J0 180103u1 punodurod oy puty (Q)

LOSTT 'S sSTMIYs g JO sond payrew o)
31 oo11d 1500 913 ST JRYM "%ST JO 1Joid B 5193

14

SO0TT TO4/¥01T IVHE



5 BBAL 2104/BCL 2105

(¢} Explain skewness, Kurtosis and their

applications to business problems.

5. (a) Find the regression line of y on x for the
following data :
X Y
| 1
3 2
4 4
6 4
8 5
9 7
11 8
14 9

(b)
(c)

6. (a)

(b)

Explain merits and limitations of correlation.

Find the correlation coefficient x and y, when
the lines of regression are 2x—9y + 6=0 and
x2y+1=0

Define matrix and explain various types of
matrices with example.

Find the volue of a, b, ¢, d which satisfy the
matrix equation.

[P.T.0.
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